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Ø 4.5 mm R  10 mm R  50 mm

Ø 8 mm R  40 mm R  100 mm



D1 W  D2 D3  E G

 40 –0.007  40 +0.009/+0.002  50  75.44 43.4 6x M6

 70 –0.008  70 +0.010/+0.002  85  113.16 62.3 6x M6

 80 –0.008  80 +0.010/+0.002  95  128.75 70.1 6x M6

 120 –0.010  120 +0.013/+0.003  135  150.88 81.2 6x M6

 130 –0.012  130 +0.015/+0.003  145  176.03 93.7 6x M6

 180 –0.012  180 +0.015/+0.003  195  257.50 134.5 6x M6

 220 –0.014  220 +0.018/+0.004  235  257.50 134.5 6x M6

 295 –0.016  295 +0.020/+0.004  310  326.90 169.2 6x M6

 410 –0.018  410 +0.025/+0.005  425  452.64 232.0 12x M6

ISO 2768 – m H 
< 6 mm ± 0.2 mm
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 400 m/s2 (IEC 60068-2-6) 
 1000 m/s2 (IEC 60068-2-27)
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a

|td|  50 ns

–

× ×

º

μ



DS 26 C 32 AT 
μ

AM 26 LS 32 
MC 3486 
SN 75 ALS 193 

R1 = 4.7 k
R2 = 1.8 k
Z0 = 120

μ
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